## LISD Relays Friday, March 28, 2008

## Varsity Boys

## Points By School

Place	School	Points
1st	Westlake	133.5
2nd	McNeil	132
3rd	Vista Ridge	127.5
4th	Leander	98
5th	Cedar Park	63.5
6th	Austin High	22.5
7th	Anderson	17
8th	Westwood	10
9th	Austin St. Michael's	8
10th	Austin Royals School	0

# Meet Results By Division Varsity Boys

## 100 M Dash

Place	Contestant	School	Time
1st	Ryan Swope	Westlake	10.71
2nd	Emory Blake	Austin High	10.96
3rd	Zu-Bolton, Josh	Anderson	11.16
3rd	Jeff Ballew	Westlake	11.16
5th	Dixon	Cedar Park	11.24
6th	Cummings	Cedar Park	11.30
6th	Greene, A.	Vista Ridge	11.30

#### 200 M Dash

Place	Contestant	School	Time
1st	Ryan Swope	Westlake	21.58
2nd	Bedford, Cerek	McNeil	21.81
3rd	Greene, A.	Vista Ridge	22.40
4th	Daniel Ruiz	Leander	22.74
5th	Emory Blake	Austin High	22.81
5th	Robert Andon	Westlake	22.81

#### 400 M Dash

Place	Contestant	School	Time
1st	Doug Kelley	Leander	48.18
2nd	Miles	Cedar Park	49.94
3rd	Jon Kelley	Leander	50.74
4th	Tom Secker	Westlake	51.36
5th	Harris, D'Marion	McNeil	51.38
6th	Tyler Walsh	Westlake	52.34

## 800 M Run

Place	Contestant	School	Time
1st	Kirk	Cedar Park	1:58.12
2nd	Garza, C.	Vista Ridge	2:01.15
3rd	Vasquez, Cody	McNeil	2:01.78
4th	Scott, Michael	Anderson	2:02.15
5th	Nick Maas	Westlake	2:06.96
6th	Raymond Joseph	Westlake	2:07.12

## 1600 M Run

Place	Contestant	School	Time
1st	Ornelas, Z.	Vista Ridge	4:20.90
2nd	Dennis Hodapp	Austin St. Mich	4:28.59
3rd	Collin Smith	Austin High	4:29.48
4th	McIllece	Cedar Park	4;32.08
5th	Jake Shaw	Westlake	4:36.37
6th	Ben Stephenson	Westlake	4:36.78

#### 3200 M Run

Place	Contestant	School	Time
1st	Ornelas, Z.	Vista Ridge	9:11.08
2nd	Wroblewski	Cedar Park	9:42.81
3rd	O'Neil	Cedar Park	9:56.24
4th	Weise, J.	Vista Ridge	9:57.00
5th	Jake Shaw	Westlake	9:59.58
6th	Ben Stephenson	Westlake	10:01.08

## 4 x 100 (400 M) Relay

4 x 100 (400 M) (10lay			
Place	Contestants	School	Time
1st	Coleman, D. Monroe, J. Patmon, T. Sanders, A.	Vista Ridge	42.43
2nd	Robert Andon Louie Swope Jeff Ballew Ryan Swope	Westlake	42.57
3rd	Litteral, Derek Williams, Aaron Crudup, Adrian Bedford, Cerek	McNeil	42.57
4th	Bryce Elarms D'Angelo Bishop Nekechie Miller Andrew Atkin	Leander	43.24
5th	Kurunwune, Pat Zu-Bolton, Josh Stuart, Rp Neal, Tye	Anderson	43.75
6th	Baldwin Dixon Cummings Thornhill	Cedar Park	43.81

#### 4 x 200 (800 M) Relay

4 x 200 (800 M) Relay			
Place	Contestants	School	Time
1st	Doug Kelley Bryce Elarms Nick Page Andrew Atkin	Leander	1:28.35
2nd	Coleman, D. Keener, R. Greene, A. Monroe, J.	Vista Ridge	1:29.35
3rd	Bedford, Cerek Tyrone, Ryan Harris, D'Marion Stermer, Charles	McNeil	1:30.23
4th	Dixon Cummings Candau Thornhill	Cedar Park	1:32.09
5th	Robert Andon Louie Swope Jeff Ballew Mike Walker	Westlake	1:32.25
6th	Ramos, Dawson Black, Lloyd Stuart, Rp Zu-Bolton, Josh	Anderson	1:32.51

## 4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Bryce Elarms Doug Kelley Jon Kelley Nick Page	Leander	3:21.50
2nd	Coleman, D. Monroe, J. Garza, C. Patmon, T.	Vista Ridge	3:23.66
3rd	Carlson, Mark Hayes, Trevor Litteral, Derek Stermer, Charles	McNeil	3:24.87
4th	Clay Nelson Tom Secker Louie Swope Tyler Walsh	Westlake	3:28.22
5th	Kirk Candau Hunt Baldwin	Cedar Park	3:34.50
6th	Ramos, Dawson Black, Lloyd Scott, Michael Neal, Tye	Anderson	3:37.84

#### 110 M Hurdles

TTO WI HUIGIES			
Place	Contestant	School	Time
1st	Sanders, A.	Vista Ridge	14.69
2nd	Clay Nelson	Westlake	14.91
3rd	Tyrone, Ryan	McNeil	15.12
4th	Carlson, Mark	McNeil	15.53
5th	Gus Hellerstedt	Austin High	15.62
6th	Keesling, K.	Vista Ridge	15.76

## 300 M Hurdles

Place	Contestant	School	Time
1st	Sanders, A.	Vista Ridge	39.82
2nd	Carlson, Mark	McNeil	39.91
3rd	Clay Nelson	Westlake	40.00
4th	Gus Hellerstedt	Austin High	40.18
5th	Chase Pritchett	Leander	41.12
6th	Hayes, Trevor	McNeil	41.82

## Long Jump

Place	Contestant	School	Distance
1st	Williams, Aaron	McNeil	22'-11 3/4"
2nd	Ryan Swope	Westlake	22'-6 1/2"
3rd	Bryce Elarms	Leander	20'-3 1/2"
4th	Crudup, Adrian	McNeil	19'-11 3/4"
5th	Coleman, D.	Vista Ridge	19'-11 1/2"
6th	Thomas Coffman	Austin High	19'-8 1/2"

## Shot Put

Place	Contestant	School	Distance
1st	Marrongelli, Trevor	Westwood	53'-8"
2nd	Staff, T.	Vista Ridge	51'-10"
3rd	Steinert, Phil	McNeil	51'-1"
4th	Damron	Cedar Park	47'-10 1/2"
5th	Reeh, N.	Vista Ridge	46'-11 1/2"
6th	Russo	Cedar Park	45'-5 3/4"

## LISD Relays Friday, March 28, 2008

# Meet Results By Division Varsity Boys (Continued...)

#### Discus

Place	Contestant	School	Distance
1st	Steinert, Phil	McNeil	160'-4"
2nd	Spencer Kainz	Westlake	152'-0 1/2"
3rd	Damron	Cedar Park	145'-2 1/2"
4th	Justin Patterson	Leander	139'-5 1/2"
5th	Shaffer, L.	Vista Ridge	137'-10"
6th	Newton, Taylor	McNeil	135'-4 1/2"

#### Triple Jump

Place	Contestant	School	Distance
1st	D'Angelo Bishop	Leander	39'-6 1/4"
2nd	Crudup, Adrian	McNeil	39'-6"
3rd	Tyrone, Ryan	McNeil	39'-4 3/4"
4th	Mike Walker	Westlake	38'-3 3/4"
5th	Keesling, K.	Vista Ridge	38'-0 3/4"
6th	Calvin Turner	Westlake	37'-9"

## High Jump

Place	Contestant	School	Height
1st	Scott Nixon	Westlake	6'-4"
2nd	Joel Smith	Leander	6'-4"
3rd	Jake Gino	Westlake	6'-2"

## Pole Vault

Place	Contestant	School	Height
1st	Clemons, Aaron	McNeil	13'-0"
2nd	Rogers Paul	Westlake	12'-0"
3rd	Niels, Doug	McNeil	11'-6"
4th	Dan Miller	Westlake	9'-6"
5th	Garrett Van Degraff	Westlake	9'-6"